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R17M5 spectral tristimulus values Ysum=100
z−R17M5,s(λ)=A31l

−
R17M5,s(λ)+A32m

−
R17M5,s(λ)

+A33m
−

R17M5,s(λ)
A3j 0,000 0,000 1,000 (λ=440)

P60:Σz−R17M5,s(λ)=103,14
xR17M5,s=0,4908
yR17M5,s=0,2501
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wavelength λ /nm
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R17M5 spectral tristimulus values Ysum=100
z−R17M5,s(λ)=A31l

−
R17M5,s(λ)+A32m

−
R17M5,s(λ)

+A33m
−

R17M5,s(λ)
A3j 0,000 0,000 1,000 (λ=440)

P55:Σz−R17M5,s(λ)=94,43
xR17M5,s=0,4990
yR17M5,s=0,2563
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R17M5 spectral tristimulus values Ysum=100
z−R17M5,s(λ)=A31l

−
R17M5,s(λ)+A32m

−
R17M5,s(λ)

+A33m
−

R17M5,s(λ)
A3j 0,000 0,000 1,000 (λ=440)

P50:Σz−R17M5,s(λ)=84,97
xR17M5,s=0,5092
yR17M5,s=0,2632
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R17M5 spectral tristimulus values Ysum=100
z−R17M5,s(λ)=A31l

−
R17M5,s(λ)+A32m

−
R17M5,s(λ)

+A33m
−

R17M5,s(λ)
A3j 0,000 0,000 1,000 (λ=440)

P45:Σz−R17M5,s(λ)=74,76
xR17M5,s=0,5217
yR17M5,s=0,2708
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R17M5 spectral tristimulus values Ysum=100
z−R17M5,s(λ)=A31l

−
R17M5,s(λ)+A32m

−
R17M5,s(λ)

+A33m
−

R17M5,s(λ)
A3j 0,000 0,000 1,000 (λ=440)

P40:Σz−R17M5,s(λ)=63,85
xR17M5,s=0,5374
yR17M5,s=0,2790
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wavelength λ /nm
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R17M5 spectral tristimulus values Ysum=100
z−R17M5,s(λ)=A31l

−
R17M5,s(λ)+A32m

−
R17M5,s(λ)

+A33m
−

R17M5,s(λ)
A3j 0,000 0,000 1,000 (λ=440)

P35:Σz−R17M5,s(λ)=52,35
xR17M5,s=0,5573
yR17M5,s=0,2872
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R17M5 spectral tristimulus values Ysum=100
z−R17M5,s(λ)=A31l

−
R17M5,s(λ)+A32m

−
R17M5,s(λ)

+A33m
−

R17M5,s(λ)
A3j 0,000 0,000 1,000 (λ=440)

P30:Σz−R17M5,s(λ)=40,50
xR17M5,s=0,5825
yR17M5,s=0,2944
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wavelength λ /nm
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R17M5 spectral tristimulus values Ysum=100
z−R17M5,s(λ)=A31l

−
R17M5,s(λ)+A32m

−
R17M5,s(λ)

+A33m
−

R17M5,s(λ)
A3j 0,000 0,000 1,000 (λ=440)

P25:Σz−R17M5,s(λ)=28,75
xR17M5,s=0,6144
yR17M5,s=0,2985


